CHER T LR - 0L B ERS - B4 E5F = m T KT R

FT B4
fRLFCRF L 3 LBE
-~ EHEE (1—10%&'3%{4 A ’11—309155*%{3/%)
( D L4eB- > [ HF-HZ a0 G EATR AR B3 (6 4k ) PloBE = &)
(Db (BIp O£ Dt yw
( ) 2. rrrr};g%@:@nﬁff},uﬁnzfiwmfﬁ%‘g;h?
(A) b3z &2)chz FFEdEAp & (B) 2 &= 435en7hs gl e gL
(C) & H&ﬂm&ﬂ» (D) &= if? LR g
( ) 4Bl = o A sLl=220 L3=24 0 BlikgpIi- B 2 FEEF P AADCE AABC?
(A) SSS (B) SAS (C) AAS (D) ASA
( )A BF a~b v i HE PITARBER S L B
(A) ab (B) atbtl (C) (atl)(b+l) (D) (at+2)(b+2)
( )5. 4cB= » AABC 52 4= 4£2520=90"20 5% G iEw > FAC=24 24 >BC=18 24 B
CG="?
(A) 5 (B) 10 (C) 15 (D) 20 =~
( ) 6. AEE @ ﬂ-,ﬁi.-./z:'ll&‘rﬁ iFE AT T (T
(A) pizdipdx  (B)pardps (O FRp&E34 (D) HELipE
( )71511%’&%?*}‘5&1&?
(A) = &35envbs i 2 &350 2R (B) - & 35407 thofop
(C) Ez g jentbe spu~Ewifk-82 (D) 27@atbe s pwik- B
( )8. 4c@le > 2 & ABCD 5 > 2)> F & * RHS > 2 5P AADF= ACDE> Pl F & 4c »v0— Big i ?
(A) AF=CE (B) DF=DE (C) ZAFD= «CED (D) ZADF= ~CDE
( D9 ¥asiE-ndd APFUERa=2%k+1> HY ki @]9
() k & Fi# (B) k & & s 0 (C) k 5 # (D) k % i ¥
A D
D A
F
A< C 7]
B B
B C
Bl - ] B = Bz




) 10, % - F3 303 ez 3BT AL B A > BlE BZ LA
(AD)irp = &) 3 h= @ & (B)ir = &2 3 ih= @ £
(O)ipz &2 3= N & T 455 D)ipz &A= F g >

Y1l - BEz &2 2R a RN 2 Fo fF200 50 2

) 12. &AABC® » 2A=100" > & T 2% AABC 3p & > B ZBIC=?
(A) 120° (B) 130° (C) 140° (D) 160°

Y13, Bl M~ ) R~ AT A S TR 0 A ) R i B A A - B2 &)
TP AR Gt 2 £ S  © e A s P REDEEAR S DX —3 0 LA s ] R ARERE S

—2x+11 - PRI &~ | Aeepedg & 5 5 ?
(A) 8 (B) 17 (C) 6 (D) 5
) 4. 4@ ~FIO0P 3 2= &3, BlOZA LT A28 = &350 9

(A) AABD (B) AADE (C) AAEF (D) AABE

) 15. % 0 8% AABC evb o > 2A=30" > 2C=50" > B £ZAOC & % > & ?
(A) 100 (B) 120 (C) 160 (D) 200 =

) 16. 4c®l= > AABC # » #AD 5 ~BAC e T 4 % > ¥ AB=20 AC=15> BD=12 R|DC= ?
(A)8  (B)9 (C)10 (D) 11

A c A
P D
F
B D [ A B
H B E C
BT Bl = & - B~

)17, % - 2> ABCD B L % 4 plpt = A5 B Fe £ 5 0 ?
(M) 27 (B) 421 (C)4rm (D) 87

)18. 4B~ » % G B 5 AABC ehéE s » CG=GH » * w 45 AHBG = # 5 12 PIABFG 05 4% 5 = ?
(A) 3 (B) 4 (C)5 (D) 6

)19. ¢ dv—- = 425 L S 100 ¥- FhE RS 12 RIp>RIEEL 552
(A) 3 (B) 4 (C) 5 (D) 6

) 20.4c®~ > D 5AB¥ 8> F 5BC® 8> AE&2CD%* F 2> ~,B=90" - 24AB=10>BC=12> pl»
725 BDFE eha f 5 0 ?
(A) 15 (B) 20 (C) 25 (D) 30

2




)21 kTG b EAIXF4y=24 R x T AR Ryt BB 0 E RE T A AAOBZ oo

RIAAIB eh5 ff = ?
(A) 6 (B)8  (C) 10 (D) 12

A A A A
E D E DA -1--) E
b ; /N W AVAL
E B 73 C B M C B MA C B M C
B C
IR B -+ B~ -
( ) 22.4®l4 > AABC® »D 5AB” 2. FE #AC} > * BELAC- #DE=10>BE=12’ RJAE:£ B
F
(A) 14 (B) 15 (C) 16 (D) 17
( ) 23. 4@+ > AABC® » ~C=90">D #BC} »E 5AB2 ® 2> AD-~CE4 23 F> ¥ AD=DB -
% 2B=20" > B ZLAFE=?
(A) 100 (B) 120 (C) 130 (D) 140
( ) 24, 4cBlL - s AM i AABC? R > £C>/Bo #-ABIBa M> REFAMABLE > 8
HMDE - £ #-2 ER » PI¥>DEshdcit » T 5|vR— BEIEE L AN ?
(A) DE# % AM (B) DE-L #BC (C) DEL »~AC (D) DE-L »~ AB
( ) 25. 4rBlL = e wAABC A= &9 2 wifADEFG 222250 H¢ DAE A LA W 4AB -
BC! » * BD=BE - £#AC=18 > GF=6 - B| F gL F]ACHE3g 5 @ ?
(A) 2 (B) 3 (C) 12-443 (D) 6vV3-6
( )26. 4cB -+ =G 5 AABCehE > H P ~C=90"+D & AB} »GD LAB-%AC=20BC=15B|GDr& &
ES i
(A) 4 (B) 5 (C) 6 (D) 7
A
A
E A L
D D, > ”
G
E C B C
B+ = B+ = Btz
( )2T. 4B+t s GEAMBCeHEw » ERLBAREBCT 7o 238 58 C6ASEAB-L2*»DE

8> 3 S BC2ACR T 8 > B AAED cha % © = 875 ADGF v 4 = ©

(A)1:1 (B)3:2 (C)4:3 (D) 5:4
3




) 28. 4@+ 7 > ABCDE 5 it 7 i§2; > * BP=CQ - % £BPA=42" > R] 2CBQ % % “ & ?
(A) 20 (B) 30 (C) 40 (D) 45 &

) 29. 4c@® -+ = » &AABC# » BM=CM > AN=CN>AM.BN>AC=6BC=8 R|AB= ?
(A) 242 (B) 2V3 (C) 245 (D) 26

) 30. 4c@B L= > £3a5ABCD ¢ > F ZBCer¥ 8> ¥ EF=FC: £AD=13 =4 > AB=6 &4 »
AE>ED > R|ED= ?

W B3 ©I 4 2w

W7 B+ = B+ =

AL B R R R




